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£ olots
H: HYSHAH|(N0HS)
Cel: QAR (SoHs) (S ® )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
olors 462,654 500,49 N37,842
HY2HAH|(HOHE) 152,124 167,216 A15,092
ol S AHH|(I0rS) 52,059 59,460 AT7,401
ol S AH|(I0tS) 52,059 59,460 AT7,401
101 @124t 52,059 59,460 AT7,401
01 22 52,059 59,460 AT7,401
OAlZteI224g 52,059
—62 12,531 @122 *30AI 24+ 128 9,023
-73 11,3192 x424+30A| 2t 122 16,300
—-82 10, 16221 *52*30AI 2+ 122 18,202
—-92 9,62021 2% x30AI 2H+ 1284 6,927
—X N2 50,539, 6802 «3% 1,517
|2 (Hers) 100,085 107,756 AT7,691
J12&HI(Hors) 100,085 107,756 AT7,691
201 et 87,835 93,416 A5,581
01 AR 22/l 32,365 33,416 A1,051
ORA2gys2t| 7,000, 00024 90% 6,300
OJI=2Y24#S2HAL|
8,002+ 1424+53]* 1284 6,720
O =L 30,0002 %10 300
O2=2 M= 2 27|
1,200,000 1,200
OSgsge=ll EW 2l
200, 00024 x2CH#43] 1,600
ozzlga| 16,245
—SE5Y| SN2
104, 0008+ 122 1,248
—20I01ALZ)| RXE4
336, 00081 * 12 4,032
—DOIZHIAIAE 2AH|
374,002+ 128 4,488
—HIIQHE (L) BRI
198, 000!+ 122 2,376
-0 RS 110,000+ 128 1,320
—AYOIN PR RRIBL
231,750+ 128 2,781
® 22| 55,470 60,000 24,530
0B322 < MA 47,260
—2Ee3 2500002+ 128 3,000
—®IIea 2,200,0002! % 122 26,400
—tAga 1,100,000+ 128 13,200
—4Eea 330, 0008+ 122 3,960
—NERYRHS 700,0008!%13] 700
OAERYIRTIY] 4,710
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-t d =g
10,0002 *23] 220
—52I| BAEL2 130,00024+15] 130
—ABOIERR| BALAR
330,000& 22 660
Ot e et] 3,500
—A"stEA | 2,000,000 *1CH 2,000
—&IISEX KA 1,500,000 1CH 1,500
202 04| 3,360 3,360
01 =LHO LI 3,360 3,360
OJl=zgdR=dE80|
20,0002 x14H 12 3,360
203 HR=H| 8.870 9,680 A810
01 D[22 LR FA| 5,610 6,270 A660
OJ|2=gg=a] 6,600,000 85% 5,610
02 32 JRHH 2= 560 560 0
O&&IR=s 40,0003 14 560
M FA2HARFAI 2,700 2,850 A150
ORNSgERF=AHI
250,0003 x 122 «00% 2,700
HotE ArH | 310,530 333,280 N22,750
TR AE XA 176,565 194,639 18,074
FUXRME 29 124,120 99,628 24,492
201 et 3| 38,580 43,198 N4,618
01 At22t2l] 36,880 38,798 21,918
O=2UXXIHE 2 MEH]
320,000 * 122 3,840
O=8XtxIE 2o F4x=E
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10,0003 x50 23 1,000
OFUAXEZZOH MSAE AIE=
3,540,000 3,540
Olt=ss74 &) 2¢ 1,500,000& 1,500
02 S3=4gl 1,700 4,400 A2,700
Os&s2= € MA 1,200
—QIgY & AHOISTVElZ
100,000 »12& 1,200
OAlZ &I Xl 500
—FQUAXIHE Al RAE
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301 EetE2 N = 58,080 53,880 4,200
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2A:

010t
Hu: ool
=0l

el ool &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFIRXIME SAHE
30,0003 x 122 <03 12 38,880
OXESAAF AHIE 4 12,000
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405 AtatE = 24,460 2,550 21,910
01 Tt =S F=HI 24,460 550 23,910
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OIolS Aol W LisEl 871 @ &I| 2
L (FRIF 004t 23,000,000 23,000
S8 | 33,188 74,500 A41,312
201 fet=3| 32,188 29,988 2,200
01 At 22|l 32,188 29,988 2,200
Ooget+=EHI 960
—SZZHIES 7Y 80,000& * 122 960
OzelE4] 31,228
— &A= X2e] 31,228,000& 31,228
401 AlZHIZ SO 1,000 44,512 AN43,512
01 AlZ28| 1,000 44,512 N43,512
O¢ots ClOIZOHIE 22 oIt A4 (52!
E0{0] &) 1,000,000 1,000
SA K& 1,300 1,500 A200
201 er23| 1,300 1,500 A200
03 A= EHI 1,300 1,500 A200
OUHE S0l A= 500,000 500
O3S HAZE & AMES 7Y
800,000 800
LB =2 4,872 7,296 N2,424
301 EtE NS 4,872 7,296 N2,424
06 AHELHUHAEIXIR 4,872 7,29 N2,424
OXEgel 248l 4,752
— eI & 20,0002 21 420
—OFAIH| 4,000 x21H*43|x 12 4,032
— ==l 300,000 300
OXSgEU =4 dJIRs
10,0002« 12& 120
Ilzdg=sit X& 4,925 4,515 410
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